Jindal Vidya Mandir, JSW Hill Side Township
jindal Vidva Mandir

Weekly Test — 13 (2025-26)

Class I/Sec:___ Max Marks: 20
Subject: IT | Duration: 45 minutes
Name: Roll No:_____
Invigilator’s signature: Date:

General Instructions:
i) This question paper contains 5 main questions in 2 pages.

ii) All questions are compulsory.

I. Choose the correct answer. 5X1M=5M

_Four pictures mouse monitor games

1) A helps to points things on the screen.

2) | can play on a computer.

3) Computer can be used to draw

4) We can watch movies on a computer

5) A computer has main parts.
[I. Match the following. 5X1M=5M
Column A Column B Answers

1. Keyboard a. Itisthe brain of a computer. [ 1]
2. CPU b. It shows what you draw or type on a computer. [ 1]
3. Birds c. Itis used to make calls to our friends. [ 1]
4. Monitor d. Lives on a tree. [ 1]
5. Mobile phone e. It helpsto type numbers and letters. [ 1

Il. Fill in the missing letters to know where computera are used. 4X1M=4M

1) Teachers use computerin -SC___ 00 .

2) Officers use computersin -OF | E.

3) Doctors use computer in - H SP T L.
4) Bankers use computersin- B A K
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IV. Answer the questions. 4X1M=4M

1) How are machines useful for us?

1) Write any four names of places where computers are used.

2) Write four main parts of a computer.

3) Name one thing that makes computer useful.

V. Draw, colour and label a computer. 1IX2M=2M
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Jindal Vidya Mandir, JSW Hill Side Township

bl Weekly Test- 13(2025-26)

-

Class/sec: Il ___

Subject:Hindi ( Ill Lang.)
Student Name:
Invigilator’s Sign

Max marks- 20
Duration- 45min
RollNo.
Date:

UY 1. faT 7Y 31&RY &1 3nTer 3raR RifQu|

(Write next letter of the following.)

Y 2. JUIN/ATATS B STSPHT R Ueg TSI

(Add the letters to make a word.)

H+T+P+9=—

H+oT+d+0T=—

Jf?+T:1'+f?::=+?';.'+€[+ 1=
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T 3. 9Tl R H 31&R R 2eg g1 | 2X1=2M
(Identify the picture and fill appropriate letters in the blanks)

qd+ + =
D+ +— =
Y 4. faU T reqi T A 34T 3R $ 1 AT P 21eg 3T- 31T fora- 6x1=6M

From the given words, write seperately the words that have sign "*T" and the sign "

(HTET, I3, UTe s , i, BSt, HepT)

a5 . f3U T F=gl & o e v S Wit

(Draw pictures of the words mentioned) 2X2=4M

ol BIGI]

Page 2 of 2







Jindal Vidya Mandir, JSW Hill Side Township

j:';:_’;_)"-“* Weekly Test -13 (2025-26)
Class: - Il /Sec: - Max.Marks: 20
Student Name: - Duration: 40 Minutes
Subject: - Kannada (lll Language) Roll No: -
Invegilator’s sigh: Date:

General Instuctions:

e This paper contains 4 mains 2 pages.
e All questions are compulsory. Read the instructions carefully and answer.

l. 83391 28,03 250 Wé, 3N 300 %3 FoRT), 2w3AD. 1X5=5

(Write the correct Ottakshara in the places given below)

Ma
3
a3,
3
23,
Il. 83 B¢'R B083,05e3 MHed 30gonY'=), weerRePD. 4X1=4

(Complete the Gunitakshara letters given below)

at m | N ne ne | Ny at e Rg et | e

o | ® o]y OA) e |G, 3 O]y oND) do | T
S D) N N Sy S Ny S V° |0 | s
@ & ¢ D | @™ By | B | e P |[WO | B
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ll. 88 ¥R 383,03 980N 0T e38023x0Mmde3 200 BT, 230)D. 5X1=5

( Write one word beginning with each of the letters given below)

1. &= 2. R= 3.3=
4 = 5. 3=
IV. 3083,0553 23,30 ISTBNY'R), dondi 203a)0. 6X1=6

(Identify the words and write in correct column)

A28 w3 FO )03 23 FO

RO , €920,8, WLy,

53D, 3,0, 33, 5 5

20f2



Y] Jindal Vidya Mandir, JSW Hill Side Township
2 Weekly Test —13 (2025-26)

Jindal Vidys Mandir

Class: Il Duration: 45 Minutes
Sub: EVS Max Marks: 20
Date:30/08/2025

General Instructions:

e This question paper consists of 1 page and 12 questions.
e All the questions are compulsory.
e Write the answers in your weekly test book.

I. Fill in the blanks. [5 X 1=5M]
1. Birds pick food with their
2. Mosquitoes spread diseases such as
3. Sunlight is the source of Vitamin
4. are the primary food producers.
5. are called ‘Friends of Farmers’.

Ill. Answer the following questions.

6.How do animals and plants depend on each other for food? [2M]
7. How do vermicomposting toilets help us? [2M]
8.How is moth different from butterfly? [2M]
9.How are honeybees helpful? [2M]
10.What is the difference between worms and insects? [2M]
11.Describe how many birds lose their shelter as well as source of food . [2M]
12.Draw a neat labelled diagram of Parts of Insect. [3M]
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@}@m Jindal Vidya Mandir, JSW Hill side township
Weekly test — 13 (2025-26)

Class IVISec :____ Duration: 45 min

Subject: Mathematics Max. Marks: 20

General Instructions: This question paper contains 3 main questions in 2
pages.

All questions are compulsory.

I. Fill in the blanks. 4X1M=4M
1.Every number has 1 and as factors.
2.The numerator is smaller than the denominator is called fractions.
3. Numbers that have more than two factors are called numbers.
7 5
4, — - — =
8 8 —
ll.Compare the following using >, <or = 2X1M=2M
1 2
1. - -
5 5
4 3
2. - -
6 6
Ill. Answer the following. 7X2M =14M

1.Find the common multilples of 6 and 9

2.Write any four equivalent fractions of given fraction.

3. Write the prime numbers between 30 and 66.

4.Reduce the given fraction into lowest form.

9

36
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5.Find the prime factor of 24 by using division method.

6.Convert the given fraction into mixed numbers by dividing.

11

7.Sushma brought 10 sandwiches. Sunil ate 2 sandwiches and Priya ate 1
sandwich.Find (in fractions) how many sandwiches they ate in total.
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Jindal Vidya Mandir, JSW Hill Side Township

.‘]imhl\'iﬂ,\'u /\Iaudh WEEkly Test_13 (2025_26)

Class: V

Max Marks: 20

Sub: Kannada(ll language) Duration: 45minutes

o H3I3POT I, N¥, IDN LDTRO0W) L3 DID.
o T, D3I, R Ry, N B0B; 0h &y, IDOTeN 223000.

| .S 2YNS VBATR, 3,038 708,EE), WEND.

1. TOBeY) 2INTID 003
2. T€9,00, 3CA

I. 82 FF¥NT ITAFS, DB 03T Fo0) W3AMD.
1. 2L, -
2. BN, -
3. BRI, -

. & FLNS 33,191 2,03 DT BS), v DD.

1.0980TBEW DOTTE?

2. BRBD DOTTLI?

3.03090:3), L9PONLIRTT?

4. 239WFT 0303 ReNA;ON0T STEH YT .0?
5. 0B33T, O 303?

IV. 85 F¥NS &3, 91 0RI-eDRT) weF N, ev3 DD
1. SRFTS), .8 AOTINS) 2203 BCNTL3CT)?
2. DO3® 3OO W)a3sT FETHMITI?

3. 20T EVATOTIIZ0I3 ABTORIZTON 3TVDE TN eNS ). 20083 33,0023 INPC?

2x1=2

3x1=3

5x1=5

3x2=6

V. Az, Zoe3odd), e323DAT 79,303); DR0WTHBOH BHDI), Dad, NFON/NY3Re0T) I3,

230 D.
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Jindal Vidya Mandir, JSW Hill Side Township
Weekly Test-13 (2025-26)

Jindal Vidya = Mandir

Class: V Max Marks: 20
Sub: Hindi(ll Language)  Duration:45min.

g fAGern: wef uea ifAari g |

1 e U oTe 3rafSe e & 2=l & 3R AU | 1x5=5M
AT &7 HAH T 8 3MTa 7 AT Sl ST H Tt 1 T Goe-GoI TTara HY IEIgTee AIaraRor Y ger
AT Gell &1 T drelisl 3 Weid! 8 3R gt aiier sRerg & U5 & 1 doa ol o § | et 319y @t o s
L ST &1 Well 3 Tl BHeT T HAL IR AIeAT §A1 T gell &1 AT & g & et Wiarar @it 3F warey
& | 31T B 3R ot FAeToTeroht i1 il § | FO AT TR T 1o HHTeTel § all o T3t Y Satmer el &
S e A 311 T SHelel @AY T g |

(i) 3T & ater I13Hf 3 el So & 2

@ TTTH (@ TR FHAT (O FAH (@ RATAR
(ii) Gerg-F T8 ATcATaROT I fohad sietar g 2

(F)TAl R ENT (@ IR H gggeRed () FaRiFAad (@) ikatHraara
(iii)@ﬂ?ﬁm%@qgmmm%?

@FE (@ dEEH  (MART (@ THY

(iv) 31T T 3R fFT YhR ShTA el & ?

() 3hel (@) FESHE () SR (E) A

(v) S ST T 3TYeFeT ek aFam gla ?
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() TG FTEEAT (@) AT RGBT (31) sRETg 1 98

2 7 feU 91T ereet & foiv faen# ersg AW |
(i) 3 (ii) 3TTRIT (iii) HIT @+

3 7 U 91T eree] 3 & #eT 2reg; 3R 3UweT g FeAa ford
(i) gl (i) @

4+ fEU 91T 924l & 3o ford-
i) ST & Ted & ToIT * e TEellear 2req hr gleT 41 fohar g 2
i) TEel T 3R Y 2155 ST TEcenl 3 T e AT ?

iii) 31T =AY UgTS & Mg H 3178 Faf ToleT UsdT g ?

() @it o e

iv) e g T TR o 378 led-AT ST FeT 2 SaTraT & 17 T ?

v) ITeT T AT T 371@T F T aig Fr a8 sTelhal giell ?
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Jindal Vidya Mandir, JSW Hill Side Township
Weekly Test-13(2025-26)

Jindal Vidysn  Maadir

Class: VI Duration: 45 min
Sub: Social Science Max Marks: 20M

General Instructions:
e All questions are compulsory.

Q1. Choose the correct option from the following multiple-choice questions.
1. What is the significance of ‘cooperation’ in a family? 3M
a) doing work independently

b) doing work together

c) avoiding responsibilities

d) ignoring each other’s need

2. Which material was most commonly used for constructing houses in Harappan
cities?

a) stone b) wood c) bricks d) clay

3. When was the city Harappa discovered?

a) 1920-21 b) 1921-22 c)1930-31 d) 1980

Q2. Fill in the blanks with the suitable word. 2M
4. Communities often come together to in times of need.

5. Harappans were the first in Eurasia to grow
Q3. Answer the following questions. 3M
6. Name two major Harappan cities that flourished along the Sarasvati River.
7. What is the Bhil’s community’s traditional response to crisis?
8.What value is emphasized by the concept of ‘dharma’ in Indian families?
Q4. Answer the following questions in 40 words. 4 M
9. Define the term ‘Civilisation’.
10. Why is the family unit is important?
Q5. Answer the following questions in 80 words. 8 M
11. Explain the reasons for the decline of the Harappan civilisation.
12. Give a brief account on Harappan trade.

Or
Describe the craft work of the Harappans.
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Jindal Vidya Mandir, JSW Hill Side Township
Weekly Test - 13 (2025-26)

Jindal Vidya ' Mandir

Class: ViI Duration: 45 Minutes
Sub: Science Max Marks: 20
Date: 30/8/25

General Instructions:

o This question paper consists of 2 pages and 9 questions.
o All the questions are compulsory.
e Write the answers in your weekly test book.

I. Choose the correct option for the following. [5 X 1=5M]
1.Which of the following is a physical change?
a) rusting of iron b) burning of paper
c) melting of ice d) cooking of rice
2. Which gas is produced during respiration?
a) oxygen b) carbon dioxide c) nitrogen d) hydrogen
3. When magnesium ribbon burns, it forms:
a) magnesium hydroxide b) magnesium carbonate
c) magnesium oxide d) magnesium sulphate
4. In humans, exchange of gases takes place in:
a) trachea b) bronchi c) alveoli d) diaphragm
5. Which one of these shows a chemical change?
a) freezing of water b) boiling of milk

c) formation of curd d) dissolving sugar in water
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Answer the following questions.

. Why do we feel tired after running very fast? Explain with reference to

respiration. [2M]

. When a candle burns, both physical and chemical changes take place.

Identify these changes. Give another example of a familiar process in which both

the chemical and physical changes take place. [3M]

. a) List any three differences between physical changes and chemical changes

with examples. [3M]
(b) Suggest two methods to prevent rusting with reasons. [2M]
. a) Explain the process of aerobic respiration in humans. [2M]
b) Draw a neat, labelled diagram of the human respiratory system. [3M]
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Jindal Vidya Mandir, JSW Hill Side Township
Weekly Test-13 (2025 -26)

Jindal Vidya . Mandir

Duration: 45 Min

Class: VIII
Max Marks: 20

Sub: Mathematics

General Instructions:
e This question paper is printed in 1 page. It consists of 3 main questions.

e All questions are compulsory.

. Fill in the blanks: 5X1M=5M
1 The sum of first 5 odd numbers is
2. Given that v5625=75, then V0. 5625+\/56 25 is
3.The squares of even numbers are always
4.If 216 is a perfect cube, then its cube root is
5. The cube root of a number that has 8 in its unit’s place ends with
3X2M=6M

Il. Do as directed:
6. 1s 2352 a perfect square? If not, find the smallest multiple of 2352 which is a perfect

square. Find the square root of the new number.

7. Find the /74088 by prime factorization method.

8. Find the greatest 4-digit number which is a perfect square.
lil. Solve the following. 3X3M=9 M

9.Area of a square plot is 2304m?. Find the side of square plot.

10.Find the square root of 42.25 by division method.

11.Parikshit is building a cuboid out of plasticine with its length, breadth and height as 4cm,
6cm and 12 cm respectively. How many such cuboids would he need to form a cube?
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Jindal Vidya Mandir, JSW Hill Side Township
Weekly Test-13 (2025-2026)

Dbl Velewm  Smaniitn

Class: IX Max.Marks:20
Subject: Information Technology Duration: 45mins.

General Instructions:
* This question paper consists of 2 pages with Ill main headings.
*All questions are compulsory.

I. Fill in the blanks. 5X1=5M
1. The facilitates easy access and navigation between pages and

different objects.
2. The term WYSISYG stands for

3. The wavy lines below certain words mark the presence of
spelling mistakes.

4. characters are the characters that do not appear in a printed
document.

5. A is a small graphic symbol that marks an item in a list.

Il. Choose the correct answer. 5X1=5M

1. To quickly select an entire paragraph in LibreOffice Writer, you can .
a. double click anywhere in paragraph b. press Ctrl +Enter
c. Triple click anywhere in paragraph d. press Shift +A

2. Which option converts the case of every selected character in the reverse

way i.e., a capital character will convert into lower case and vice versa.

a. small capitals b. toggle case c. cycle case d. uppercase
3. is a temporary storage location.
a. clipboard b. rulers c. menu bar d. toolbar

4. What is the file extension of LibreOffice writer document?

a. .odt b. .odp c..odd d. .odw
5. The vertical ruler formats the alignment of text.
a. top b. right c. vertical d. horizontal
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lll. Answer these questions. 5X2=10M

1. Distinguish between Standard toolbar and Formatting toolbar.
What is the use of Find & Replace dialog box?

What is the difference between copy-paste and cut-paste?
What is formatting? List the different types of formatting.
What is indent? Write the steps to indent a paragraph.

i o L
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Jindal Vidya Mandir, JSW Hill Side Township
Weekly Test-13

Class: X Duration: 45 minutes.
Subject: Social Science Max. Marks: 20

General Instructions:

1. This question paper consists of 14 questions.
2. All questions are compulsory.

Choose the correct option for the below given multiple choice questions.

5x1=5
1. Under the MGNREGA 2005 act, the number of guaranteed days of employment per
yearis:
a. 100days b. 365days c. 150 days d. 200 days

2. Which of the following examples does not fall under unorganized sector?
(a) A farmer irrigating his field.
(b) A daily wage labourer working for a contractor.
(c) A doctor in a hospital treating a patient.
(d) A handloom weaver working on a loom in her house.

3 act emphasizes the ‘Equal pay for Equal work’.
a. MGNREGA-2005 b. RTI-2005
b. c. Equal Remuneration act-1976 d. Equal Salary act-1986

4. Assertion (A): The banking sector in India falls under the organized sector.

Reason (R): Terms of work are decided in the banking sector, and employees enjoy
job security.

Both A and R are true and R is the correct explanation for A.
Both A and R are true but R is not a correct explanation for A.
A is true but R is false.

Both are false.

o0 oo

5. Assertion (A): Large dams, meant to control floods, have sometimes triggered
floods instead.
Reason (R): Sedimentation in reservoirs reduces their water-holding capacity.
a. Both A and R are correct and R is the correct explanation for A.
b. Both A and R are true but R is not a correct explanation for A.
c. Aiscorrect butRiswrong.
d. Ais wrong but R is correct.
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6. Assertion (A): A secular state does not promote any particular religion.
Reason (R): A secular state treats all religions equally and does not discriminate on
the basis of religious beliefs.

Both A and R are correct and R is the correct explanation for A.
Both A and R are true but R is not a correct explanation for A.
A'is correct but R is wrong.

Ais wrong but R is correct.

o 0 T w

Il. Answer the following questions in brief. 5x1=5

7. Suggest any one way to create employment opportunity in the rural areas.

8. If a region relies heavily on groundwater and surface water that is continually
renewed, what is the fundamental natural process responsible for this continuous
supply?

9. During an election campaign, a political leader uses religious symbols and plays on
religious sentiments to sway voters in a mixed religious constituency.

This is an example of a political strategy based on what form of communal politics?
10.What are the ‘guls’ or ‘kuls’?

11. Differentiate: Public and Private sector.

ll. Answer the following questions in 30 to 40 words. 1x2=2

12.Give an account of MGNREGA 20057
Or
Describe how political parties use caste identity to mobilize voters and select
candidates, impacting election results and government formation.

IV. Answer the following questions in 80 to 120 words. 2x4=8

13.“Gender division is not based on Biology but on social expectations and stereotypes’.
Support the statement.
Or
What is water scarcity? Write the main reasons for water scarcity.

14.Explain the various rainwater harvesting methods and practices across India.

Or
Explain the factors that have led to the weakening of the caste system in India
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